BORILLA oPORTS

Professional Multi Bench(100834)




PUORILLA oPOATS

load 1462KG

load 1462KG

tmOge 1o, g

Maximum load 1462KG



Washer: (b 8) Washer: (b 12)

© ©

X 12X

Hex Bolt: (M12%105)

E I

\\\\

il

2X

Hex Bolt: (M12+%115)

: z
1X

Ty

Hex Bolt: (M12%130)

§ i

|

il

IX

HUORILLA oPORTY

Lock Nut: (M12)

/ \
©
N

6X

Hex Bolt: (M12%95)

I

O

2X

Hex Bolt: (M8*65)

1X

Hex Bolt: (M8%25)




©

Washer (& 12) —6PCS

©

Lock Nut (M12)-3PCS

i

Hex Bolt (M12%105)-1PC




©

Washer (& 12) -4PCS

N\
©
\\—

Lock Nut (M12)-2PCS

Hex Bolt (M12%130)-1PC




3 © ©

Washer (¢ 12)-2PCS  Lock Nut (M12)-1PC




Washer (& 8)-7PCS Hex Bolt (M8%25)—-6PCS

—

(-

Hex Bolt (M8%65)—1PC




